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$ 250 HAHTAF—
HAMM AT JE 8.9mm m 171 TR ML
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SREERR As*Con
EEEIRHI DA T t=10cmbL T m —
SREERR As+Con
EEERHI DA T t=10cmbL T m —
SREERR As+Con
EHHRHIFHA T t=10cmPA F nf 30.90 30
SREERR As+Con
EEERHI LA T t=10cmLL F n —
SRR As+Con
R HIFHA T 10cm<t=15cm nf —
EHAERR As+Con
EHHEHIRSA T 10cm<t=15cm i —
ALK As+Con
EHHEHIRGA T 10cm<t=15cm ot —
ALK As+Con
EHHEHIRGA T 10cm<t=15cm i —
As/Con
Al IR A T 15cm<t=<30cm nt —
As/Con
Al IR A T 15cm<t=<40cm nf —
As/Con
SRR A T 15cm<t=40cm nf —
As/Con
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A T () m’ 67.16 70
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WEH e =— A=A %N —
EUN g
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o LR T m’ —
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HAE
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HAIE
AT t=10cm RC—40 i —
HOE D
EI=AN t=3cm BRI As (13) ni 30.90 31
HOE D
FET t=>5cm FRIEE As (13) m —
HOE
FET t=5cm R As (20) m —
HLE D
FET t=5cm R As (20) m —
HLE D
HE T t=5cm HIBIEAs (20) | m — BB TR
HOE D
P =N t=>5cm HLRLEE As (20) m — g A
HOE
AR T t=10cm C—40 n —
HLE
AR T t=16cm RC—40 nt 30.90 31
HLE D
AT t=15cm RC—40 nt —
ERTR
ERET t=10cm FEZELHE o —
HOE D
AT t=10cm M—30 of —
HLE
AT t=13cm M—30 ot —
HLE D
) s T t=15cm M—30 i —
ERTR
) A T t=17cm M—30 i —
HLE
TR T t=10cm RC—40 of —
HLE D
TR T t=14cm RC—40 ot —
HLE D
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F 8- FEH
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B E L T M ¢ 150mm m 8. 50 9
0.09/0. 68=
LSy T P& m3 0. 09 0.09 ]0.13t
b e =— 0~3mATi  2f& P
gk T A& H ¢ 150mm m 8. 50 9 3~bmAIH 2f& T
= AR O A (U )
WL e = — L5 ¢ 150mm L=4.00m 7N 3 3
TILH VARE
AFETHET ¢ 150mm i T 4 4
H 7EAKF
B Y = — L ¢ 150mm 30/ 11
B 1EAEF
WL e = — L5 $ 150mm 45 1 — —
Fs - M e A THEFR
gL e =— L% ¢ 150mm 1l
ZOHT—
gL e =— 5 ¢ 150mm &
XE
gL =— 9% ¢ 250 X ¢ 150mm & AT 4 4
et Am ] T BH m3 15. 81 20
MR L L BH i+ m3 10. 57 10
WO FAE T BH m3 3.78 4
BH
7 ALy T B m3 4. 06 4
+RT
S m — —
R AR Eagill
R EE T H=2.0mJ L F BHO.28{ m 4. 65 5
H08 R4 JB SR AL W=0. 85m
B T 1B m 4.65 5
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B Empog T 4

CilE

(fi#iBh) No.
T i 4 g VAR I AT =
f+ # L
EHEEGIWT T |7 2 7 7L REfdE ¢ =<15cm m 27. 40 30
a7V — Ml t =15cm m — —
EEHEIFEAT| 7 A7 7L Mli%E ¢ <15cm | m2 10. 71 10
a7 ) — hEfidE t =15em | m2 — —
T AT 7 v N iLEE m3 0.43 0.4
a7 ) — R m3 — —
1GIRALSy T m3 0. 02 0. 02
A8 IH T
BEAZ T |IRC-40 t=16cm (REEEET) | m2 10. 71 11 e
TE T |FAEBRET 22 t=3cm m2 10. 71 11 s
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R E A T £ 5 £ (BERE£250m)

(HAm)
A i) Al AR K HL MR AR &
XN RS L
(S TR T15)
RN AR = 1.0
¢ 250 AT TAF—
FAMA A7 JE 8.9mm m 50 TIkR% ML
FAHTAF—
S — Vb PIEVEA ke 1 TIERZE ML R
HAHTAF —
T BT | AR URME . ke 1 TIER% L
R T AR E T (£ 1
Tl InEA T (B0 1
Bl E=N & T 1
O —L T ] 2
B O T =) 2
FofEFT H 2
BEELAT m 46
BINELT. m 46
BHHL m 46
I RRHIFL L m] 3
BHE O EIFLLT N 3
T Y 1.0
KRBT A 1
IR HEfi 2 5V 1.0
Y B T m 93
AETVIHA L m 46
RS P = 1.0
AETVIHA L m 46
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XEFEE BEEHRK
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T f& % R B B AL W & i 2
A AT TR
2O E R A
A AT TR
R B A
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H A H&E&HRFEE

BIENmE T BERE£22300mm (Siis - FZ R 1)
meoom HAER B 1X%7-0
& FR &t " =Y BT M &
(g 252
AR 10071-10 <A
37.44 + 6.167 + 0.75 X 2
= 45.107 m
10067-10
42.96 + 7.2712 + 075 X 2
— 51.732m
10169-10
49.09 + 5.292 +  0.75 X 2
— 55.882m
10184-20
31.63 + 5.151 + 0.75 X 2
— 38.281m
10197-30
39.62 + 2.653 + 0.75 X 2
— 43773 m
200.74 m = 234.78 m m 234.78
0N A N A} = Vo
B i % & 3 H &
Perind =)
BENHE T BEERE£250mn (S s JERE L)
meoom AR B 14720
& B &t " 2V HANL =
(=g 252
AR 10070-10 <A
38.95 + 3916 + 0.75 X 2
—  44.366 m
10024-10
41.08 + 4.445 +  0.75 X 2
—  47.025m
10090-10
37.95 + 2.861 + 0.75 X 2
— 42311m
10184-1-20
32.34 + 3.3 + 075 X 2
— 37.140 m
150.32 m #} =  170.84 m m 170.84
¢ 300 $ 250
B AN 234.78 + 170.84 m 405.6
B m keg/m Jifi T A%
O — Lkt (030 X 7 X 03 X 15) X (5 X 2) 4.2
(025 X © X 03 X 15 ) X (4 X 2) 2.8
NI kg 7.1
B kg/m ke/m  Jfi LA
AL BRF (030 X = /2 X (1.0405 ) ) X (5 X 2) 7.07
(025 X = /2 X (1.0+05) ) X (4 X 2) 4.71
&t ke 11.78
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BGA T I - 1A 2(?0%(7)2 + 1(513022(; m 351.1
a B Ak isly 17204720
4 R &t B = HAL | B &
B
Cegutc)| e 10071-10 2
(BER% /& £%300mm) 10067-10 2
(BE% & £%.250mm) 10169-10 2
10184-20 2
10197-30 2
10070-10 2
10024-10 2
10090-10 2
10184-1-20 2
B 18 & T 18
BOy—A T80t kT BERE
(BER% /& £%300mm) 10071-10 2
(BE% /& £%250mm) 10067-10 2
10169-10 2
10184-20 2
10197-30 2
10070-10 2
10024-10 2
10090-10 2
10184-1-20 2
B 18 & T 18
B 18 - 1= L B
TN T 10071-10 1
10067-10 1
10169-10 1
10184-20 1
10197-30 1
10070-10 1
10024-10 1
10090-10 1
10184-1-20 1
2 9 5] 9
BufHE nRHEIFL T
et AL T BE
10071-10 2
10067-10 2
10169-10
10184-20
10197-30
10070-10
10024-10 2
10090-10
10184-1-20 3
B 15 i 15
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3 = =
¥ B i E &
T Fi B R A
4 B it B = AL ¥ &
HEfif &
1B e e T .
10071-10 37.44
10067-10 42.96
10169-10 49.09
10184-20 31.63
10197-30 39.62
10070-10 38.95
10024-10 41.08
10090-10 37.95
10184-1-20 32.34
LR 351.06
351.06 X 2 [A = 702.12 m 702.12
AE TVl T.CFRD R = 351.06 m 351.06
KEET B
10071-10 1275/ B 1
10067-10 128/ B 1
10169-10 1275/ B 1
10184-20 128/ B 1
10197-30 1275/ B 1
10070-10 128/ B 1
10024-10 128/ B 1
10090-10 128/ B 1
10184-1-20 128/ B 1
H %X 9.00 H 9.00
HlrE ey
AETVIRETGET) = 351.06 m 351.06
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LA

N
BRI T BEREE

HoOR SRR 1X%7-0
& FR 5t H =y HANL o =
B
WA RS 10184-1-30 ~>H—ri
46.3 + 1.924 +  0.75 X 2
49.724 m
46.3 m 3= 49.724 m m 49.72
® 250
B RS 49.72 m 49.7
B m keg/m i oA
FEOY— (030 X n© X 03 X 15 ) X (5 X 2) ke 0.7
R kg/m kg/m  Ji LA/
B ot EA (030 X = /2 X (1.0405 ) ) X (5 X 2) kg 1.18
. . ® 250
#s HNEL. A
@ O RS 104720
4 &t " = =<Xfv ¥ &
B
& DEk T 18184-1-30 2
(BEaR 4% #%250mm)
& 2 &RT 2
BOY— LT &0 T B
(B % % 425 0mm) 18184-1-30 2
§ 2 &R 2
SRR IE - i E T xS
T INEA T 18184-1-30 1
7 1 5] 1
B8 ORI FL T
W& D LT BES
18184-1-30 3
= 3 H 3
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% BB A E
T Fi ST G-
4 B it B = AL ¥ &
HEfif &
1B e e T B&T
10184-1-30 46.30
LR 46.30
46.30 X 2 [A 92.60 m 92.60
AE TVl T.CFRD JISS 46.30 m 46.30
AT HEE
10184-1-30 1
H %X 1.00 H 1.00
HlrE ey
AETVIRETGET) 46.30 m 46.30
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> B =
2 EHEE
EfATL  FHAL
(fif8h) 10184-1-10 &£ ¢ 250 e L= 31.95 m LTHEE L= 31.95- 0525 —  0.525 = 30.90 m
E /) A& 7t H = /NEE
EMH TMH
T 1.789 +  3.437 )/ 2.0 2.613
I ¢ 250 1.00
BEsRE HIFE PRARIE
AR 0.04 0.03 0.16
A BTES B RES A
T ILRRE S ¢ 250 0.267 + 0.10 + 0.10 0.056 0.467
=t 15 +T 0.525 % 0.450
AR T 15 +T 0.525 & 0.450
BBt T
Sk T t=10cmPL T 30.90 X 2.000 61.80
PR e
SR PATERRA T BH 30.90 X  1.00 30.90
R R TG BERATAET
HHR NI T BH 30.90 X 1.00 x( 2.613 - 0.040 ) 79.51
HPE£
R HPYERR ¢ 250 T/ 4.0 X 0.314 2 X 30.90 2.39
&t 77.12
PEHINE  memer BRERE BRE HIRE
BRI T BH 30.90 X 1.00 X( 2.613 - 0.467 - 0.160 - 0.030 ) 60.44
B 5 T DT 79.51 - 60.44 / 0.9 12.35
BB T AsHll 3090 X  0.04 1.24
it A - A DT 60.44 / 0.9 67.16
it i A DT 60.44 / 0.9 67.16
AT BH 67.16
BERRE HP ¢ 250 30.90 30.90
m¥ Y HE G B AR R
BB T DT 30.90 X 0.065 / 2.35 0.85
TGRS T 61.80 X  0.04 X 0.023 0.06
EiE
RRAFL FiALL
R LY = — VAR T $ 250 31.95 — 045 -  0.45 31.05
PEFR RS — b 30.90 30.90
AT 30.90 x( 1.0 X 0.467 - 0.056 ) 12.70
+8®T
EEMFREEME T H=3.0m 30.90 30.90
W B SRR R 2% 30.90 30.90
HEERT
KT t=3cm 30.90 X  1.00 30.90
BT t=16cm 30.90 X  1.00 30.90
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HUHEARRIR L HEiAE
(i 8h) (B LA 5T )
fii il B = VA A ﬁ i1
BATERMETL  [F9% ¢ 150mm
2454 2453 2452 2451
+2.00 +2.00 +2.00 +2.50
m
= 8.50|  8.50
B s T m
VP ¢ 150 =
LSy T ({5k=g Y= 0.188 m NEE=  0.150 m
(0.188% X /4 — 0.150* X /4 ) X 8. 50
m3
= 0.086|  0.09
Bt ERE L | 2admz 0 2ZEs (BAEH) ¢150mm L =4000mm
m
= 8.50|  8.50
N
8. 50 -+ 4. 000 = 2.13 3.0
~3mANili| 2454 2453 2.0l 2.0 fEHAT
3~bmAE| 2452 2451 = 2.0l 2.0 fEHpT
5~ 12mA i = & T
L H UARE ¢ 150mm
2454 2453 2452 2451
+1.00 +1.00 +1.00 +1.00
& T
= 4.0 4.0
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(t#Eh)
i hilll = = - N F By
+T 2454  (Ti#)
JEH T LS IR JEE=  2.90 m
RIS SEEgERUS (0.60+ 2.27) = 2 = 1.40
SEYPREIE 1.40+ 0.019+0.100= 1.52
H -0. 040
0.900 X1.48 X2.90 = 3. 863
Pl BERRE /M= 0.188 m
0.188 2 X x4 X 2. 90 = A0. 081
/et = 3. 782

2453 (il1i#)
IR = 2.60 m

R TR (0.60+ 1.30) =+ 2 = 1.00
EEEENGE H 1.00+ 0.019+0.100= 1.12
H -0. 040
0.900 X1.08 X2.60 = 2.527
L]0 BERRE #ME= 0.188 m
0.188 * X x4 X  2.60 = A0.072
JNE = 2. 455

2452  (fiiH)
0 BB RARGES SERE=  3.00 m

R TR (0.60+ 2.10) =+ 2 = 1.40
EEEENGE H 1.404 0.019+0.100= 1.52
H -0. 040
0.900 X1.48 X3.00 = 3. 996
Pl BERRE AME= 0.188 m
0.188 2 X /4 X 3. 00 = A0. 083
JNEF = 3.913

2451 (i)
0 B RARGES ERE= 3.40 m

LR SRR (0.60+ 3.03) = 2 = 1.80
SEPREIE H 1.80+ 0.019+0.100= 1.92
H -0. 040
0.900 X1.88 X3.40 = 5. 753
Pl BERRE /M= 0.188 m
0.188 2 X x,/4 X 3. 40 = A0. 094
/NG = 5. 659
P T faEt = 15.809| 15.81
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P’ = = = P =
‘ BT EMRE L HEHEE
(f#iBh) (ARG AP
T 7l =1 7\ - /Nt By =
+T 2454  (TiH)
HEL L 2% R ) ARG SERE= 2.90 m
SEHRE NG H = 1.52
PR L H’ — (0.37740. 180) = 0.96
0.900  X0.96 X2.90 = 2.506
m3
/it = 2. 506 2.51
2453 (&)
2% R Bl ARG ERE=  2.60 m
SEHRE IR H = 1.12
EHHER L H’ — (0.3774+0. 180) = 0.56
0.900 X0.56 X2.60 = 1.310
m3
INEF = 1.310 1.31
2452 (Th1&)
S BB RARGES SEE=  3.00 m
SEXRAE H = 1.52
MR L H’ — (0.37740. 180) = 0.96
0.900 X0.96 X3.00 = 2.592
m3
/it = 2. 592 2. 59
2451 (&)
0 B RARGES SERE=  3.40 m
SERPREIG H =1.92
SEHHERE LS H’ —(0.37740. 180) = 1.36
0.900 X1.36 X3.40 = 4,162
m3
/et = 4,162 4.16
HELL it = 10.57| 10.57
+T m3
¥Ry T 15. 81 — 10.57  =+0.9 = 4,06 4. 06
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BB L HhaEitEE
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BT +2.90 +2.60 +3.00 +3.40
W FLRkE
= 11.90[ 11.90

(0. 900 X 0.377 —0.165 *X & X1/4 )

X 11.90 = 3. 783

m3

i = 3. 783 3. 78
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+H¥ T
B B R AR BREHMAREL=2.0m 1. 30< FHIRHIZE=1.80
2454 2453 2452 2451
1. 45 +1.50 +1.70
m
= 4.650|  4.65
T+ T
A A SR T SR T 1. 30<“FHIHRAIE=1.8
2454 2453 2452 2451
1. 45 +1.50 +1.70
m
= 4.650|  4.65
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BT EMRE L HEHEE
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T il = = A N % 5
SRS U L S0 T A7 7L Mtk t =15cm
s 2454
2.90 X 2.0 + 0. 90 = 6. 70
Huft#& 2453
2.60 X 2.0 + 0. 90 = 6. 10
s 2452
3. 00 X 2.0 + 0. 90 = 6. 90
W 2451
3. 40 X 2.0 + 0. 90 = 7.70
m
/NG = 27.40| 27.40
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| BT EAR S T BEIHEE
(f#iBh) ENET DD
Tl il =1 = N FE % =
SHLEEEE U T [HufHs 2454
t=4dcm  TEEYR SEEIE= 0.90 m
(&)  0.90 X 2.9 = 2.61
W 2453
t=4cm T atEiE= 0.90 m
()  0.90 X 2. 60 = 2.34
Wi 2452
t=4dcm BB SifEIE= 0.90 m
(&)  0.90 X 3. 00 = 2.70
W 2451
t=4dcm  TEHYR SEEME= 0.90 m
(&)  0.90 X 3. 40 = 3. 06
nm
/Nt = 10. 71| 10.71
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SAEREE LT |7 A 7 7 L F LB
10. 71 X0.04 = 0. 428
INEE = 0.428
m3
0. 428 0. 43
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SRR T B
A IH T KET FAEBRET 2o t=3cm
m?2
10. 71 = 10. 71| 10.71
BuftE
BAET RC-40 t=16cm (REEEEET)
m2

= 10. 71 10.71
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